ALGEBRA 1 Name K E }l

1-7 PRACTICE: THE DISTRIBUTIVE PROPERTY

Use the Distributive Property to simplify each expression.

L 6(a+10) = (o (a) + G (i0) 2. 112t +3) = || (2¢) +n(3)
= o + (O » 29t 23
§ r
3. 1009-n) = 10(4) - 10(n) a. 6(5x+1):®(gx)+0(1)
=~ 0o =2x%x + 0
5. (2-80)15 = (1.5)(2) -(1.5)(8c) 6 —4(m+5) = E4Xm)+ (-4)(5)
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S ® =Sy - 20

1. —82b—T7) = -g(zb)_g(-‘.}_} 12. —-%(4—x+10) = -2 (4x) - '*(m)
== Uk T Sk =-2>§—5

8. 26=5)7 =3 (2¢)- 2(s) % —@-b+3)=-(a)- (-p) - (3)

= 14¢ - 35 = ek iy = B
Simplify each expression into two separate simplified fractions.
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Simplify each expression by combining like terms.

19. 1lx+9x = 20 % 20 5Sm—=7m = — Q9
21, —4y? +9y? .—_-5)(7- 2. 6d—4+2d—7
= 8d - ||

28. 8a—7b+5a—3 26, —7x+32% —dx—1
=130 - Fb - 3 = 3% -1lx ~|
25. bxy + 2xy — 8xy 26. 2(—3z—5)+1

= [BXy = By = -0z -10+|
= O - "‘(p 2 o q

Show how mental math would be used to find each product.

27. (5.5)(6) = (5 + 0.5)(t) 28. 4(197)

= 6(5) + (6 (0.5) = ¢ (200 -3)

= o0 % 3 = goo - 12

= 27 =388

29. Error Analysis. A student uses the Distributive Property to simplify
4(2b — 5) and gets 8b — 5 as the result.
Describe and correct the error.

“The Student did not olis bribute e 4 h te 5.
Coccechon 4 (2b -5) = 4(2b) - q(5)
= 8b - 20



